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2. Consider the following table to solve the following question sets. = :
(a) Determine all the,critical paths (CPMs) and the value, of the CPM. (16%) %
(b) If we want to complete this project within 25days, please compute the probability. (4%) _
S
(c¢) Follow question (b), determine the total crash cost and the CPMs if changes occurs . (5%) o |
(' B Distribution is applied. p=(0+4M+P)/6, c=(P-0)/6 ,P(Z>0)=0.5, P(Z < 0.19)=0.0753) _l‘i 2
19 ! q
Activity 1-2 13141232535 |36|46|47]|56]58]|68]| 6778 . 1q 4
MostLikely | 5 [10 [ 14| 5 [ 9 [ 3|7 3| 4| 4 1261 1] 6 o e T
Time & -
Optmistic | 2 | 7 |5 |2 6|3 |73 |1 a9 61 ]3] 8/ =g >
Time )
Pessimistic 8 19 17 | 14 | 12 3 13 | 21 7 10 | 15 12 1 9 L
time )"1 Ib
Unit crash cost| 100 | 600 | 500 |1800]1100]9000| 300 |1600| 200 | 800 |1200| 400 [9000| 400 1h
o 06 oF L3 LI 9 03 1L o of lr 6% 9 o¢ Ig vo
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3. A firm producing a single product has 3 plants and 4 customers. The 3 plants will produce 6, 8, 1
and 4 units, respectively, during the next time period. The firm has made a commitment to sell 4 1
' 6
units to customer 1, 6 units to customer 2, and at least 2 units to customer 3. Both customers 3 :1 ly !
2>
and 4 also want to buy as many as the remaining units as possible. The net profit associated with s . 34
)
shipping 1 unit from plant i for sale to customer j is given by the following table. Solve this 3 3:{: v ue
¢
transportation problem. (35%) ’lﬁf =
LI
Customer 1 Customer 2 Customer 3 Customer 4 3% ®
Plant 1 8 7 5 2 .
Plant 2 5 2 1 3- Lj
Plant 3 6 4 3 5 _ﬂ
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